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Instructions for the candidates :
1. wdiemet garEve st vt B 3 @)

\\@9

Candidates are o give their answers in their own words as far as

Q\Q‘c
n&a}th@w@mmﬁﬁemh

Rgures in the nght hand marygin indicate full marks.

3. ¥ T slwryEE e & fav oienteat & 1s e w1 sfifor waa R
T i

practicable,

[

15 minutes of extra time have been allotled for the candidates to read the questions
carefully.
4. 4F 9¥9F <1 @v3i 7 ¢ wvy-¥ 0F uvy-v)

This question paper is divided inlo two sections — Section-4 and Sgction-B.
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5. @vE-N ° 48 awglre gy §1 7 8 Rl a0 awt @1 3 A #1 9AF & o
137 fuifa 1 afc &% ol 108 sifire gt @1 3¢ 31 & @ FUH 40 A &
ST FT & qoIF &1 §7H I Iy 0 T OMR IT-03F 7 [ 70 78t g
% Fiel/#1 qicr 97 & wi 1 et b e & gy / aver wad / e/ AT
HTIE W1 OMR IT-wmw | wabr Fr AT &, S=wr wew GRVITT I G

In Section-A, there are 48 objective type questions; out of which any
40 questions are to be answered. If a candidate answers more than 40 questions,
then answers of first 40 questions will be evaluated only. Each question carmes
1 mark. Darken the circle with blue / black ball pen against the correct option on
OMR Answer Sheet prouvided to you. Do not use whitener / liquid / blade / nail
etc. on OMR Answer Sheet; otherwise the result will be {nvalid.

. WVS-& §F 28 7Y Iwdia wvT §1 57 8 v e s &, 7 99T TATAAH W &

v 7 7¥7 e A & &1 9)F Rag (Wiw e, e e o sa ) @
AR-IR GV FT I 3 &1 GAF F v 2 e Fuiid &1 7 AfARE 7@ g §
6 314 Ivig g [ o & fed @ 2w wife wrer &, 2 W9 TR TR &
0 2977 i faam & & wifaw e & 3 3adia gva & A 6 i, T
YR Gd e A & fag s st P &) s R (wifrss s, 7@ s
va AT faar) § 0F-ayT F1 3971 Afqard &
In Section-B, there are 28 short answer type questions. Oul of these, eight
questions are [rom-Physics, seven questions are from Chemistry and seven
questions are f¥om Blology. Four questions are to be answered from each subject
(Physics, Chemistry and Blology). Lach question carries 2 marks. Apart from
these, there are 6 Long Answer type questions in which two questions each from
Physics, Chemistry and Blology are there. L.ong Answer type questions from
Physics carmies 6 marks each, and from Chemistry and Blology carries § marks
each. Answer of one question each from Physics, Chemistry and Biology is
compulsory.

7. FEE 9B & SR ITHI0 FT G4 qoiear afer

Use of any electronic appliances is strictly prohibited.
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VS - A / SECTION - A

FRf1@ WA / Objective Type Questions .
wvT woar 1#4swmﬁrwmfrnﬁ#ﬁ'a‘f4om#wma‘mhmm'm
& w1y ar fraee gy & Rt @ v Wt & o ar 97 O 9 s w omm

vz ur fafgra & 40 x 1 = 40
Question Nos. 1 to 48 arc of objective type. Answer any 40 questions. Each question has
Jour options out of which only one is correct. You have to mark your selected option on

the OMR sheet. 40 x 1 =40
1. Frefefea 4 @ 25 aa &9 SufEaie g § 2
(A A7 (B) Zn
(C) Fe (D) Mg
Which of the following metals is least reacted ?
(A) Al (B) Zn
(C)  Fe (D) Mg
2. A @) TOA] FA 8
'u\} 6+ (B) 8
< 9 (D) 11
| N
The atomic number of garbon is
Sk
(A6 NG B 8
N
) 9 6@ D) 1
3. SRIgE FRGE (A - ] & @ -3y # €, 9 Fee €
(A)  Tewd (B) UemRA-
€ em X 0) ¥ G F§ A
Unsaturated hydrocarbons having triple bonds in between carbon-carbon atoms
arc called
(A) Alkane (B}  Alkyne
(C) Alkene (D) None of these
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DA X fwumeer v w1 g b

A - on B -CHlo
) - coon oy >C0
The formula of functional group of ethanol is
A - ON @) -CHO
(€) - COOHN o »>C0
5 dqn wfrdvem W g o }
A dm @ ¥m /e
€ 8 / i (D) At
The S.1. unit of the clectrical resistivity is
(A)  ohm (B) ohm/metre
(C)  volt/metre (D) ‘ohm-metre
o. FefefEa 3 ) w\ fge = a9 sy IS E 2
(A IR B) @@
(C) -wIN - D) T
Which of the foliowing is the best conductor of clectricity ?
(A) Silver (B) -lron
. (C) Nichrome (D) Rubber

7. Toqq v & awn e @ @ fee R 2

(A ¥ B AR
() ErR O AW
Who discovered the magnetic effect of electric current ?
(A) Faraday (B) Ocrsted
(C) Ampere (D) Bohr
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|

8. faga o ofrafam &een @
(A difEE 3w faga w5 o @) Tt Fe w faga st o
€ faga & ® e st g o) frp s @ aifie w9
Elecine motor converts .
(A} mechanical encrgy into electrical energy
(Bl chcmical energy into clectrical energy
(C)  clectrical encrgy into chemical energy
(D) clectrical energy into mechanical energy
9. T affam F i wifaw @ wfE w0 (w-av) e Gee & R T
w31 faifaa @ ST & A Gt o @ e g
A TR s (B) @& AR
(C) TG (D} ERIT (G
When positively charged pitticle | alpha-particle) is projected towards west and
deflccted towards nogth by a magnctic ficld, the direction of magnetic ficld
will be
(A) toward. sguth (B) lowards cast
(C) downward (D) upward
10. WL 11 St fagaangfa & A €, g
(A) 220V W R urt gheft & B) 12V W fF= yrr et @
) 220V W ARG YRR S (D) 12 V W Y@l URT a8
The domestic supply of clectric current is '
(A) dircct current at 220 V . (B) direct currentat 12V
(C)  alternating current at 220 V (D) alternating current at 12V
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5§ . el - b ?
AR wt G g w Ae a1 g fE frr w71 WY T ¥

(A) i oare sy B awet A fet

€y mm e (D) i § Fg 8!

In which day a solar water heater cannot be used to get hot water ?
(Al A sunny day (B) A cloudy day

(C1 A hot day (D)  Nonc of these

12 TR e s da w@e I g @R 2

(A) *i;ﬂ’fm FAT B) @A FAl

(€  arvEm FE (D) S
Which of the following is not derived from the solar cnergy ?
(A} Geothermal encrgy (B)  Wind cnergy
(C)  Nuclear energy (D) Biomass

13, T & e fad ol 30 W R T @ wfafa @ gl @ & a7 q9m g

() FAE T (B]  &IA HTAA

(C) FEd IA \\Q® (D) 1 A g 39a] I

If the image of an é@%cl is always erect for any distance of the object in front of
the mirror, {hc&%‘lc mirroris

(A) only planc (B) only concave

{Cy  only convex (D)  cither planc or convex

14, el FR @1 aeE | uge ogn efefea dd @R da t 2

(A)  FEAd 29 (B I IS
(C)  BHAE 2000 (D) W9ae a1 I 9

Which of the following is the mirror used in the headlight of a car ?

(A) Concave mirror (B) Convex mirror
(C)  Plane mirror . (D)  Plane or convex mirror
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15, Fetetad 8 A e stadate wmt sfers om y 2

(A) A (B) aF

(C) ®Ta D) #as
Which of the following has the highest refractive index ?
(A)  Air (B) lce

(C)  Glass (D)  Diamond

6. foatefaa | 4 fea dtm @1 b da #20 § 2

) I ER (B) STHAA A
(C) I Ud 3TaA &\ ZH (D) dREEA &4

Which of the following lenses is called converging lens 7

(A)  Convex lens (B) Concave lens

(C) Both convex and concave lens (D) “Bifocal Iens.

17, fa=faiga 9 29 aygfem & o

» o F 1 Q@ (B) RE
: S\\ .
(cy T D (D) ~ FGaW
N3
Which of the foll Qg is bisexual ? .
(A)  Earthwaih (B) Frog
(C) Fish (D) Tortoise

18, 5z A Aw waEm & e fEm dnd @ o 2

(A) - B Td
(C) T . o s
Which plant is sclected by Mendel for his experiments ?
(A)  Mango _ (B) Rose
(C) Whcat ’ (D) Pca
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19 B9 % 3 o o5 s sin k7

W W ®

) @A o R <
Which onc of the following is a vestigial organ ?

(A)  Backbone B) Thumb

C) Ear (D) Apendix

20. ‘Favw) smeeR’ femd e ) )

_IA) T "y B T T
IC) AR T | (D) Wﬂﬂ"’l
‘Chipko movement’ is related to
(A} forest conacrvation (B). - sail conscrvation
(C)  water conacrvation (D). afforestation

21 fafabgn i @ o dw @ sda (g b 2

u
L
* v

B) wv
€} ue+vw o <
u
Which of tic following is the magnification ( m) of a lens ?
A u
(A) - B uv
(C) u+v L
o

22, fafefEaddas e o amemt )

(Ay Wi ® Yo
() Gt O) e
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Which of the following is the coloured portion of an cyc ?

(A} Cornea (B) Retina
€) Ins (D) Pupil
23, AGHSH B WER & forw qui e wave s @ X o
~(A) ™ B) e
(C) g (D) AT
Light of which colour scatters more in atomsphere ?
(A)  Red (B) Bluc
(C) Yecllow (D) Orange
24, VAW F G TN & www @ ot anafas g A amm 2 e e 3
W T ?
A) W& (B)  ATgHEEy - v
) wEnA (D) " AREHR S wd e 2

The sun is visible to us about 2 minutes beforé the actual sunrise due to which
phenomenon of light ?

(A) Rellection K\QQ

(B)  Aumospheric r@lion

(C)  Scattering \Q%”
(D) Both nl@phcn’c refraction and scattering

25. AYfiE 3mad Frgw & aER adl & v Fefafaa O fews smad wem
g € 2

(A) W] FAENE] & (B) W] HEAIH FH
(C) U] AFR & D) Td &
According to modern periodic law, propertics of elements are a periodic function
of their
(A) Atomic masscs (B)  Atomic numbers
(C)  Atomic size (D)  Density
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2. I s wl ) S wee et § F weer § 2

W e B FF
€ =m O) & FR T
The horizontal rows of modern periodic table are known as which of the
following ? ‘
(A)  Periods (B) Groups
(€)  Shells (D)  None of these
27. W & T 4 & o @ aar & G B @ g e 39w B 2
A) U FmmEe (B) T FmE
€) =& = s agEw o) FEF |-
Which of the following methods is suitable for preventing an iron frying pan
from rusting ?
(A} Applying grcasc (B). . Applying paint
(C)  Applying a coating of zinc (D) - All of these
28. Fafetfaa % fam v &1 arg @ s @ w0 T @ 2
A) Al \\QQ (B Nav
(€} Mg ® (D) Cu
Which of the Rk@h'ing metals can casily be cut with a knife ?
N Al @QQ (B) Na
(C} Mg (D) Cu

29. fmfefea A& o Y 3 & ol &1 ghum s g & 2
W Cl, (B) SO

A0 €O, -

2

D) O,

Which of the following gases turns lime water milky ?
A) Cl

2 (B) SO,
© co, @ o,
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r0  cdfw sna Frsfafan O @ fewt a2

(A] T (B) @M
) faam (D) el
Tartanc acid is found in which one of the following ?
(A) Tomato (B) Orange
(C) Vincgar (D) Tamarind
3) e w vl qa
(Al CaSO,.1H,0~ (B) CaSO,.2H,0
[€)  CaSO,.10H,0 (D) T @ &3 E

The chemical formula of Gypsum is

(A) CuSOd.%H,‘,O (B) CaSO4.2H20
(C) CaS0,. 10l !20 (D) - None of thesc
32 fam Adl aeegRe A & dra sntear @ Frefefea f @ w9 @ i faed R 2
A 0, Q (B) CO,v”
© H, g\@ D) N,
Vhich of the followi@iy’is evolved when zinc reacts with sulphuric acid ?
Q
(A 0, @$ B) CO,
€ M, (D) N,
33 HEEM E FN A ST ATEAE ?
O (B) YT
€)@ (D) W
Which discasc 1s caused by the deficiency of iodine ?
(A) Goitre (B) Diabetes
(C) Scurvy ' (D) AIDS
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M R ey fresqzd) dife @ fvwert aren gena ¥ 7
Ay alg e ) i
(C) g‘iirﬂ-l (D) Uﬂ'l;ﬁ{“{./
Which one of the following is o hormone secreted by pituitary gland ?
A} Growth hormone (B)  Thyroxine
(€} Insulin (D)  Androgen

35 IR seifE s faa fafu g dim ko

(A R Bl

(€} AR (0D) T A
Which method of asexual reproduction occurs in amoeba ?
(A} Budding {B)  Fission

(C}  Sporulation (D) All of these

36, FE & FA-TN UM G 1§ TKeAAT ¥ 9

(A GFIR Q (B) TFIR
Q
. ;_' %\ -~
u{(;'] M &2’ (D) 4EUS
| Y
Which p;nrl@ flower ehanges into fruit ?
{A) St an (B) Carpcl
(C}  Ovary, (D)  Ovule

37, WM E A AN A2 § ) T @ @ P aen @

‘j}’ FT IR (B) W& FHifvrpd
(C) A A D) ¥& W

Opening und closing of stomata is controlled by

(A) guard cells (B)  companion cells
(C)  sieve tubes (D) root hair
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38 P8 R W e @) e v s vt 2

Ay = By W

(C) TmIEAN by fm

Which one of the following is structural and functional unit of kidney ?
(A)  Ncuron (B)  Nephron

(C) Glomcrulus (D) Ventricle

39 WA w1 W 3w o faitea § W g 2

W= (B) @
C) T (D) =Y

Main cxcretory organ of human beings in the following is

(A)  kidney (B) . blood
(C)  swcat gland ‘ (D) . _pancreas
40 R ®NE? ,
& .
(A) T Tem (8) TR fom g
QO .
© | .\
(€) g&9% @Q (D) WA A
What 1s Androgen ?
(A) Male sex hormone (B) Female sex hormone
(C)  Digestive juice (D)  All of these
a1, v fewh shfEa & qug few wqrd o s @ gie g 8, o Fefatea 9 @
P9 F A E ?
(A) ERpLC] (B) HIIGA ./
(€} GERm (D) ¥ E FE T
| 112 ] J [5012-J o Page 13 of 20
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ich of the
known as which ©
If 0 substance gains oxygen during o reaction, then 1018

following ?
(A) Oxidation (B) Reduction
(€)  Corrosion (D)  Nonc of these

A2 SUE & p)y WA IR
w 7dww Jm 7R

iy 7 D) 14

The pH value of an acid s
(A} lessthan 7 (B) more than7
<y 7 (D) 14

a3 U @ W sfaE gk

(A)  Na,CO, (B) NaJCOJ.QIIJO
i€} Na,CO,.10H,0 (D) NuJCOJ.SH,O.

The molecular formula of washing sodais

(A} Na,CO, g&\@ B) Na,CO, 2H,0

(C)  Na,CO & e (D) Na,CO,.5H,0

a4 h{wﬁw@qmmmmk P &0 €& T A w1 W € ¥ W

W R
(A)  SERE IH 1Br T&TE 3nd
) felzw awa D) HFAEE
Bee-sting leaves an acid which causes pain and irntation. The acid is
(A) Mcthanoic acid (B) Ethanoic acid
(C)  Citric acid (D) Oxalic acid
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(A T T @ g
DAEEE G Lk (o) W
How does amoeba catch its food ?
(A) By tentacles (B) By tongue
(C) By pscudopodia (D) By mouth
a6 ®A-T CARN 7w T fFar wrm & 9
W e @ Gai
) @ (D) UHAFAA
Which cnzyme acts upon fat ?
‘(A)  Pepsin (B) Trypsin
(C)  Lypase (D) - Amylase
a7 T wwR & e R Afes s g o 80
JA)  ArgEdy (B) Fawm
€ (4) T (B) TS (o) 0 aFR A
Which type of respiration releases more encrgy ?
(A)  Acrobic (B) Anaerobic
(C) Both (A) and (B) (D) None of these
48. WG @ ATAM ¢
A 2fEm : - B |
(€ D) &g
Respiratory organ of fish is
(A)  trachea B) gills
(C)  skin (D) lungs
1112 |J [5012-Jd @0 Page 15 of 20
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WYY - W / SECTION - B
v yirex Physics
WY IFET W / Short Answer Type Questions

0¥ Wy J#smwmhf:nﬁ#&ﬂ4m#$mfimm*m

2% Rifig 4x2=8
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each question
camies 2 marks. . 1x2=8

g

WE Ay @ |-50Wﬁmﬁ¢haﬁ@zﬁu&wmtlﬁ?ﬁmﬁw
el & 2 frat o w9 et 31 108 m/s ¥l 2

Light enters from air to glass having refractive index 1-50. What is the speed of

light in the glass ? The speed of light in vacuum is 3 x 108 m/s.

2 IO & oF W R o # s o A f @ e @ w2
Druw u ray diagram to show image formation of an object placed at 2F ol’ a
convex lens.

3 fmﬁmmﬁ:whwmﬁmmmaﬁl 2
Draw a labelled ray.diggram 1o show lhlc refraction of light through prism.

3. el siafees anten s S #) amten wwon =i v de 2
Why does the'sky appear dark instead of blue to an astronaut ?

5. mﬂﬁﬁmw.%fmsﬁhﬂw%ﬁrﬁmhmmmﬁﬁm
Fl € 2
Name the device that helps 1o maintain a potential difference across the ends of
a conduclor,

g Forp cinil 5 ol & Frefor 3 s e 2 1 ) i s o e &
Why is tungsten usced almost exclusively for filament of clectric lam.p ?
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S )

p QT ER & m ey

L

fagA Wi = et &

State the principle of an clectric motor.

Wnite the names two CNCIRY BOUrces.

¥ wita wwr !/ Long Answer Type Questions

w7 Wokr 9 3 10 ¥ Fate svr §) gk @ et o o A &1 AR WA &
6 3% Fraifew #1 | 1x6=6

Question Nos. 9 and 10 are Long Answer Type questions. Answer any one of them. Each
question cames 6 marks. ] x6=6

9 P dw R wwa b 7 vk wn a7 vk d @ fafe @) R
qay | 6
What is short sightedncss (myo.pial 2 What are its causcs ? Explain the mcqmd
of removing this defcct with dingram.
10, 3W & Fraw e | g% we & fed O wam &1 aoi &L 6
Writc Ohm's law. Expliin-an experiment for. its verification.
' TRTE A / Chemistry

7R I9T 9¥ ./ Short Answer Type Questions
o WE 11 A 17 A% g Iwta £ @ Rl 4wt & e §) s & e
2 3w Fraifra T 4x2=8

Question Nos. 1] to 17 are Short Answer Type. Answer any 4 questions. Each question

cames 2 marks. 4x2=-8
1. hvmnﬁ%hmwaﬁﬁmﬁﬂwmt ? 3 afvfwrmad & wwiww
fafgu | 2

-

What is the difference between displacement and double displacement

rcaclions ? Wrile cquations for these reactions.
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12, mwm*mmmmm: I+
o) Wian wez dften wenR & w s wO
b HR SRS wEA st & A s S §
Write balanced chemical equation for the reaction taking place when —

4] Sodium sulphate reacts with Barjum chloride

b} Calcium hydroxide reacts with Carbon dioxide.
13. WM & W o W e @ w wmrem: @ e FEed R 2 @& R
% H TawH | 2

Which gas is usually liberated when an acid reacts with a'metal ? lllustrate with

an example.
14 &I AW & g w6 & e g wifsm A @ 3w fmm A &, IR Am
fd 2
$

: N ' i
Name the sedium co und which is used for softening hard water.
e “
15, AR 3 #{@% 2
N
What is Anodising ?
6. F9& &) e gl & fam 8 oem @ w0 a2 ? s F: A

e Bicis 2

What happens when zine s placed in iron sulphate solution ? Write the
chemical equation of the reaction.

17, ARG U8 WO &7 G091 ¥ femg

Write the structural formulac of bromopropane and propanonc.,
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i Wit vy / Long Answer Type Questions

oy7 NS 18 A 19Wmt:m#ﬁrﬁwmmhmm*ﬁw

s 5% futfer 4
] x85=8§

fron \D T'] ( n
r‘)'uf'\ 10 3 18 Gﬂd 19 are L‘)ng An.!w'cf .’m. Ansur ﬂny one Of’lhcm E‘] h “ucsno

18 AN W @ et o ) ? W& R A faf, o o i @ fedy s

What is the chemical name of baking sodna ? Write its prcparation, properties
and uses.

19 foni v et ot & ? T0E Q3o ¥) f g & A TwEnt @ 2o F S
What arc alloys ? Give its two examples. Explain three uses of alloys.
vﬁ'a fawr / Blology
g I wy=w / Ghort Answer Type Questions

T WS 20#25%@5@1:W§#ﬁbﬁ4m$wa‘:mmwfﬁw
2 3% Fraffea ,2;\%

4x2=8
N
Question Nos. 20 (%@%am Short Answer Type. Answer any 4 questions. Each question
carries 2 marks. 4x2=8
20. W WYEIV SLE 2 @ TR @ vt aile fad 2
What is photosynthesis ? Write chemical equation of this process.
21, NG w4k 2 2
What is oxyhacmoglobin ?
22, HRER AN oEUR F w9 A ¥ ? 2
-
What arc the differences between xylem and phloem ?
[112]J [5012-J ao) Page 19 of 20
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23 wAR 3 R w wn awwd b2 3gwm £
What do you mean by homologous organs ? Qive examples.
24, W?ﬁmwi?wmmmﬂmﬂ“h 2
What is [o0d chain ? Give an example of terrestnal food chain.
25, MmIimvmeswIm k) 2

What arc the strategies of water conservation ?

26 1% % o wd S : 1
Write two lunctions of blood.

it swfiv o= | Long Answer Type Questions

wrT WA 27 Ud 28 ¥id Fade b1 gt @ et ow w7 gar &1 o s & Ry

s 3w Fraifta ¢ Ix5=5§

Question Nos. 27 and 28 arc Long Answer Type. Answer any one of them. Each question

cames S marks. \ I «5=5

27w & famto fafe ng@h w? 5
Explain the mclhod@nnc formation in human beings.

28, AW & T wv&% w i fax =l 5

Draw a lnbcl%d diagram of female reproductive system of human beings.

[ 112 ]J [5012-J o Page 20 of 20

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

